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~Instructions : (1) Graph paper and statistical tables will be provided on request.
{2) Use of Scientific calculator is atfowed

Q1 A Explain the Linear Programming Problem. State the assumption and its 14
applications in various fields.

ATV DAISY A AHRALAL 248 qHAl i SR sygldl. [AlR3 &3 44 Gudlal
syRlLdl,
OR
Q1 A a)Giving illustration, define the following terms: 6

Gelurel A 12 4L ugl cavaidld s

1)Feasible solution ( %54 G5&) 2) Basic feasible solution ( HARLA sy G3al)
3) Optimal solution (S2H G3d)

b) Solve the following L.P.P. by graphical method: 8
YT, ALY AL 5iAsLAL wUEUHAL 2lagl Gig Hadl:

dd a8l [Q81 ( HedH) Maximize : Z = 30X, + 40X,
13l 91241 €69 ot B.Subject to : 60X, + 120 X, < 1200;
8X, +5X, < 600,
3X; + 4X; £500; X,20,%>0

Q1 B Select the correct Answer from the following. 4
cleletiell ALl veuet Ye 82l
i) Maximization of objective function in LPP means
viedlilRi Gqaal [A8ad HedH siq nea-
A Value occurs at allowable set decision C Both (A) and (B).
el (ctofius o vz (ud wend Wi 9 oid (A) 14 (B).

B highest value is chosen among allowable D none of the above
decision (AL Blsuel qél)
sLey (A6 929 Hledl HedH Het Huld] BHdd
lstt (Al 30 w2is spamibiE 9

i) In LPP involving more than two variables can be solved by Method.
ol A Sl dullR Adsl BG3A HLL......... dd ol GUAlL U,
A Graphical (tiduidl ) C Simplex (ailw@a-l)
B Matrix minima (<3d¥ éllgil& ) D None of these (231 2sugl aél)



Q2 A

Q2

Q2

A

iii) In a simplex method, a tableau is optimal only if all the Z;.-C; values are
Alreaadl Sl i gqaall (382 ol Bud HedH cdlzey ay war Z-Ci_ .

A <0 C 20
B =0 D None of these(ziiisy AsugL él)
iv) The best use of linear programming is to find optimal use of
sehilul gqaall [A8as HenH 63 Aadd ol GUaLIL LU,
A Money (L) C Machine (Hail-)
B Manpower (Hicdoial) D All of the above (Gu2lsd dHIH)
Define the following terms 14

A13 4 uEL ULvALAlA 53
i) Slack Variable (42 ¥di) ii) Surplus Variable (YRid A€l)
iii) Artificial Variable (Mtglds adl)
And Explain the Charne’s big- M [penalty] technique for solving L.P.P.
Bl UL VRS UL G Hi2l AAT Uy WAl ) Ad uauenal,
OR

a)Explain the duality in Linear programming problem. State the relations 7
between a primal L..P.P. in to its dual L.P.P.

YW VUAISY L UHRAUHL GE AL Al WAL AUMAL YU HHRAUA 2 GE BHAM]
Aol syl
b) Solve the following L.P.P. by simplex method: 7
(L) gt wavtisy e wHetldl dlndadl dadl 35a dadl,
( <&d @ell [A5Y - HedH ) Maximize : Z=4X, +3 X,
(Hft:loﬁ\l YSubject to constraints: 2X; + X; <1000 ; X, + X, <800
X] < 400, Xz 570, X]EO, X2 >0
Select the correct Answer from the following. 4
ofldaimiell Al veus YAe sl
i). The linear function of the variables which is to be maximize or minimize is
called
Yout (Aol Hea HedM AUl oyeici 2l dal $60.
A Constraints (ufasisl ) C Decision variable ( (stelus e
B Objective function (¢4 @l (381) D None of the above (g, 2susL 48l
11) For maximization LPP, the simplex method is terminated when all values
dlhrasdl da i gqaal [Qudsl Hedd G3d HI2 AU,
A Z_i-C_iSO C Zj-Cj =
B Z-C>0 D Z >0



i11) An objective function is maximized when it is a function

ddanl Rua Hedi U, LR (Quu elu.
A Loss (s821lel) C Cost ((3Hd)
B Profit (elsl) D None of the above (¥iHLe, 25Ul A&l)
iv) Dual of the dual is
GE il &E uB,
A Primal (sua{®s) C Alternative (ds(cus)
B Dual (g€) D None of the above (24iHle) SLsugL «lél)

Q3 A Explain the transportation problem and discuss in detail Vogel’s approximation
method for solving transportation problem.
AN AG12AL dAHZAL AHMAL A dHAL B5a Wizl 4la-l vl G5a Hi-] dd
AHMAL
OR
Q3 A a) Write a note on ‘Unbalanced transportation problem’ and explain method
for solving it.
AAHALE Al Rl AR | AHAL GUR A4 @uil e GEa HIZl] Zd AHondl,
b) Solve the following transportation problem using VAM.
ALLAL A1zl Al dHzlAL At B3y ] Hdell Haal

ORIGINS DESTINATION SUPPLY
Geulvraid URdalA Y248l
Dy | D, | Dy | Dy
0, 11 13 17 14 250
i O- 16 18 14 10 300
0 21 24 | 13 10 400
DEMAND | 200 | 225 275 | 250
Hiol

Q3 B Select the correct Answer from the following.
slleletiriall 2l evaet wde 2.

i) What do we apply in order to determine the optimum solution of a TP?
wioll 56 dAa ol AlSAHAGIRAL  UHAL 1L SedH Gl HA?

A LPP (33wt dlve ol C MODI Method ( €l <
slust) 2lct)

B VAM (dalaedl »ietw ) D None (2uile) 2lsuet oél)
i) For maximization in TP, the objective is to maximize the total

QusAcad R4l UHAL L Sqdell Ruu HedH auud, s el
A Loss (qs2u4) C Profit (asl)
B Cost ( [81q) D None of the above (2itHie 2suet

aél)

14



Q4 A a)Explain the Maximization type Assignment Problem and Unbalanced

Transportation Problem. How will you solve such problems?
HenH &q call (Qdu Wi wd wd(Ad (EyEadl aaul el 2 da

Q4

iii)  When the total supply is equal to total demand in a transportation

problem, the problem is said to be

QAAASRAL  UHRAL ML g YRASL Bl g RO AWML &l cud st A

A Balanced (iq(état)

C A and B Both (A %ld B oia)
B Unbalanced (»teiq(dt) D None (3uHieg 2Asugt «tel)
Q4 A Explain giving example the problem of assignment and discuss in detail

Hungarian method of solving assignment problem.

Getaxll il [Uyfsa-dl quen qumdl vid [Aysd-dl auzal L Gid wizdl $iRun ughld,

qulal.

B3 Hidl 3ld aelal.

b) Solve the following Assignment problem and compute working time.
{12 et [Af5ddl unzaL Al G5 HAQL AR AetdB stHAL 114, 2R

Select the correct Answer from the following.,

OR

Work (514)
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aldellHiell 1l evaller UAe sl

1)Which method usually gives a very good solution to the assignment problem?
(A3l umaml 2HLel

A Simplex (%ﬂll-a&i“ﬂ)

B vam (@Al uelnd)

11) Which method is used to solving assignment problems
(A5l amaml Gsame _ dd 9.

A matrix ( slells)

B MODI ()

supply and demand values equal

[yfsedl wuedl 2 dugdeaagirdl 4l duHzadl [y usiz 430 Giell st ~ud
ey,

C 2 D 3

Y248l i

D Johnson’s {Wewietel)

HOL Al Bua=

A

0 B

1

A el ARl G5 M,
¢ Hungarian (éal@?‘{d)

C  Hungarian (63R2e)
D None of the above (e dl5uL él)
iii) An assignment problem is a special form of transportation problem where all

14



